172 Sq. cop
7
3/8x 2 1/4 Carriage bolt 5
_|._
? [
with nuts ! :\
I
2x10 x 14'\ P D1’ Socket Acess hole
[
a4
I I EUZ
L0
3 o |
l ol—73/8 x 3 1/2 bolt
I o | with nuts
3 | o |
e
D
ol
T 3/8 x 1 1/2 Bolts
I i with nuts
T
T
\‘ / | It 1l \ \
/ ) I /
Assembly

Hordware list

8 H-BC37225 3/8” x 2 1/4” Corriage Bolt
16 - H-B37150 3/8” x 1 1/2” Bolt

4 H-B37350 3/8” x 3 1/2” Bolt
28 - H-NS37 3/8” Serrated Nut

4 - H-PCS250 2 1/2” Plastic Cap

4 - MH-PRT-I 2 1/2” Sqg. Telescoping Upright

4 - MH-PRT-BA 3’ Sq Base Assembly
8 — MH-GOFB 1/4” Guideon Clamp Plate

Rev# Revislon description BY

NCrar T oo
ROSCOMMONMI 48653

Pontoon Rack deck style
capoble for tritoons

This olr‘awm is the pr‘oper“ty oF
NECY‘% or’l Ql Pr‘oolu%‘ts 8&
rawing may be_ reproduced DRAWING NO. SCALE PDATE

‘th
wi ou prope oriz A o M H . P R —|— - :BBY/Slil\lA/




